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moveDirectiom = Vector3(Input.GetAxis( "Horizontal™), Input.GetAxis(“Vertical™),0);

moveDirectiom = transform.TransformDirection(moveDirectiom);

moveDirectiom *= MoveSpeed;
characterController.Move(moveDirectiom*Time.deltaTime);
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GetKey(KeyCode.

GetKey(KeyCode.

5();
A-Key-Move

A 1t (Input.GetKey(KeyCode.A

D-Key-Move A):

'l-l' L
Input.GetKey(KeyCode.
S-Key-Move
. D();
fa R
SA-Key-Move if (Input.GetKey(KeyCode.W) && Input.GetKey(KeyCode.2

il

SD-Key-Move

WA();
11“ if (Input.GetKey(KeyCode.W) && Input.GetKey(KeyCode.

W- Key-Move WD():

f‘ 1t (Input.GetKey(KeyCode.S) && Input.GetKey(KeyCode.
WA- Key- Move

va'
WD-Key- Move if GetKey(KeyCode.S) && Input.GetKey(KeyCode.D)
¥
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Input.GetKeyDown(KeyCode .Mouse®)

(Teado Attack <= 0 && Teado Attack2 <= @)
TeadoAttack or Baldo();
mid = ©.1f;
(Teado Attack > @ && mid <= @)
TeadoAttack2(),;

Teado Attack -= Time.deltaTime;

mid -= Time.deltaTime;
Teado Attack2 -= Time.deltaTime;
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TeadoAttack or Baldol
anim.GetBool("Teado-Baldo™)

it (Teado Attack <= ©)

r
L

anim.SetBool( "DefAt1”

Teado.gameObject.tag

Teado _Attack = 0.8f;

anim.SetBool(’
anim.SetBool(’
anim.SetBool(’
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—’ if (Input.GetKeyUp(KeyCode.Space)

(?’ anim.SetBool("Space”, false);

Body .gameObject.tag = "Body";

1f (Input.GetKeyDown(KeyCode.LeftShift)

if (anim.GetBool( "Tead

{
anim.SetBool( "Sunap”,
anim.SetBool("IDLE",
anim.SetBool( "Tead
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Input.GetKeyDown(KeyCode.Mouse®)

if (Teado Attack <= © && Teado Attack2 <= 0)

I

L
TeadoAttack or Baldo();
mid = 0.1F;

1+ (Teado_Attack > © && mid <= 0)

I
L

TeadoAttack2i

»

Teado Attack -= Time.deltaTime;
mid -= Time.deltaTime;
Teado Attack2 -= Time.deltaTime;
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| TeadoAttack or Baldo()
if (anim.GetBool("Teado-Baldo"™)

1t (Teado_ Attack <= 0)

I

L
anim.SetBool( "DefAtl”
Teado.gameObject.tag
Teado Attack = 0.8f;

1
J

anim.SetBool("T
anim.SetBool("
anim.SetBool("S

TeadoAttack2( )

anim.SetBool( "DefAt2”,
Teado_Attack2 = 0.7f;
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! OnTriggerEnter(Collider other

'_—’ if (other.gameObject.CompareTag ("DefAT")

if (Body.gameObject.tag == "Body")

HIT();

—20

IHEIELD 20t SSOIH HPI EHEE= IS 0ICL.







if (Input.GetKey(KeyCode.Mousel)
TeadoMakgi(); TeadoMakgi(

MoveSpeed = 5;
if(!anim.GetBool("Space™)

F (Input.GetKeyUp(KeyCode.Mousel) anim.SetBool( 'Mousel”,true);
Body.gameObject.tag == "mu”;

MoveSpeed = 10;
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Gurugi

e’, anim.SetBool( "Space”, 5
p—— if (anim.GetBool("A-Input")
characterController. {
L
G__’ y anim.GetBool("D-Input")
characterController.
anim.GetBool ("S-Input")

(;’ 1t (Input.GetKeyDown(KeyCode.Space)

characterController.

anim.GetBool (" SA-Input”

if (Gurugicolltime <= @)

I
L

characterController.

anim.GetBool("SD-Input™)

Gurugi();

characterController. { Vector3(1.25f,-1.25f,8));

anim.GetBool( "W-Input”)

Guruglicolltime -= Time.deltaTime,

characterController.
anim.GetBool ("WA-Ing

1t (Input.GetKeyUp(KeyCode.Space)
characterController. (new Vector3(-1.25F,1.25F,8));
anim.GetBool ("WD-Input™)

anim.SetBool("Space”, false);

characterController. ( Vector3(1.25F,1.25¢f_8));
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